Bell Ringer
Tuesday

Why is it common to have a 9
minute snooze interval on
alarm clocks, why not 10

instead?
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Why is it common to have 9 minute snooze interval on
alarm clocks, why not 10 instead?

By setting it at 9 minutes, the alarm clock only
needs to watch the last digit of time. So, if
you hit the snooze at 6:45, the alarm goes off
again when the last digit is 4. They couldn’t
make it 10 minutes, otherwise the alarm
would go off right away.
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By moving one of the
following digits, make the

equation correct
62—-63=1
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By moving one of the
following digits, make the
equation correct
62—-63=1
2°-63=1
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What seven letter word
has hundreds of letters
init?

Mailbox
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Tom’s mother has three
children. One is named
April, one is named May.
What is the third one
named?



Bell Ringer
Friday

Tom’s mother has three
children. One is named
April, one is named May.
What is the third one
named?
Tom
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